

Name : Abbas Khan

R.No : 16049

Semester : 2nd

Paper : Linear Algebra

Submitted to : Shabeel Sir

Date : 30/06/2020

Q1 Given:-

$$x_1 - \overset{\text{(3rd ID) } x_2}{\cancel{0x_2}} + x_3 = 0$$

$$2x_2 - 8x_3 = 8$$

$$5x_1 - 5x_3 = 10$$

So Find out =

Consistent or Not?

Solution:

$$\text{Let } z \text{ 3rd ID} = 0$$

$$x_1 - 0x_2 + x_3 = 0$$

$$2x_2 - 8x_3 = 8$$

$$5x_1 - 5x_3 = 10$$

$$x_1 + x_3 = 0$$

$$2x_2 - 8x_3 = 8$$

$$5x_1 - 5x_3 = 10$$

$$\therefore (5x_1 - 5x_3 = 10 \div 5)$$

$$x_1 + x_3 = 2$$

$$x_1 + x_3 = 0$$

$$2x_1 = 2$$

$$x_1 = 1$$

$$x_1 + x_3 = 0$$

$$(x_1 = 1)$$

$$1 + x_3 = 0$$

$$\boxed{x_3 = -1}$$

$$2x_2 - 8(-1) = 8$$

$$2x_2 + 8 = 8$$

$$2x_2 = 8 - 8$$

$$2x_2 = 0$$

$$\boxed{x_2 = 0}$$

Now

$$\left[\begin{array}{ccc|c} 1 & 0 & 1 & 0 \\ 0 & 2 & -8 & 8 \\ 5 & 0 & -5 & 10 \end{array} \right]$$

$$\left[\begin{array}{ccc|c} 1 & 0 & 1 & 0 \\ 0 & 2 & -8 & 8 \\ 5/5 & 0/5 & -5/5 & 10/5 \end{array} \right] \quad R_3 \cdot 1/5$$

$$\left[\begin{array}{ccc|c} 1 & 0 & 1 & 0 \\ 0 & 2 & -8 & 8 \\ 1 & 0 & -1 & 2 \end{array} \right]$$

Q1 Part 4 Page 1-03

$$\left[\begin{array}{ccc|c} 1 & 0 & 1 & 0 \\ 0 & 2 & -8 & 8 \\ 2 & 0 & 0 & 2 \end{array} \right] R_3 + R_1$$

$$\left[\begin{array}{ccc|c} 2 & 0 & 0 & 2 \\ 0 & 2 & -8 & 8 \\ 1 & 0 & 1 & 0 \end{array} \right] R_1 \leftrightarrow R_3$$

$$\left[\begin{array}{ccc|c} 1 & 0 & 0 & 1 \\ 0 & 2 & -8 & 8 \\ 1 & 0 & 1 & 0 \end{array} \right] \frac{1}{2}R_1$$

$$\left[\begin{array}{ccc|c} 1 & 0 & 0 & 1 \\ 0 & 2 & -8 & 8 \\ 0 & 0 & 1 & -1 \end{array} \right] R_3 - R_1$$

8

$$\text{S.S} = \cancel{x_1 = 1}, \quad \cancel{x_2 = 2x_2 - 8x_3 = 8}$$

$$\cancel{x_3 = 1} \quad \cancel{x_2 = 2(1) - 8}$$

$$\text{S.S} = \{ x_3 = -1, x_1 = 1 \}$$

$$2x_2 - 8x_3 = 8$$

$$2x_2 - 8(-1) = 8$$

$$2x_2 + 8 = 8$$

$$2x_2 = 8 - 8 \Rightarrow 2x_2 = 0$$

Page 104.

$$x_2 = 0$$

$$S.S = (x_1 = 1, x_2 = 0, x_3 = -1)$$

It is consistent because it is
has finite solution.

Ans 2 Given:

$$A = \begin{bmatrix} 3 & 4 & 5 \\ 2 & -1 & 4 \\ 5 & -2 & 7 \end{bmatrix}$$

Find out: Adjoint Method.

Solution:

Let $\therefore 4^{\text{th}} - 10 = 4$

$$\begin{bmatrix} 3 & 4 & 5 \\ 2 & -1 & 4 \\ 5 & -2 & 7 \end{bmatrix}$$

Now we find the co-factors:

$$A_{11} = (-1)^{1+1} = \begin{vmatrix} -1 & 4 \\ -2 & 7 \end{vmatrix} = 1(-7+8) = 1$$

$$A_{12} = (-1)^{1+2} = \begin{vmatrix} 2 & 4 \\ 5 & 7 \end{vmatrix} = -1(14-20) = +6$$

$$A_{13} = (-1)^{1+3} = \begin{vmatrix} 2 & -1 \\ 5 & -2 \end{vmatrix} = 1(-4-(-5)) = (-4+5) = 1$$

$$A_{21} = (-1)^{2+1} = \begin{vmatrix} 4 & 5 \\ -2 & 7 \end{vmatrix} = -1(28-(-10)) = -(28+10) = -38$$

$$A_{22} = (-1)^{2+2} = \begin{vmatrix} 3 & 5 \\ 5 & 7 \end{vmatrix} = 1(21-25) = 4$$

Page: ~~106~~ 66

Ans 2) Part

I.D: 16049

$$A_{23} = (-1)^{2+3} = \begin{vmatrix} 3 & 4 \\ 5 & -2 \end{vmatrix} = -1(-6-20) = +24$$

$$A_{31} = (-1)^{3+1} = \begin{vmatrix} 4 & 5 \\ 1 & 4 \end{vmatrix} = 1(16+5) = 21$$

$$A_{32} = (-1)^{3+2} = \begin{vmatrix} 3 & 5 \\ 2 & 4 \end{vmatrix} = -1(16-10) = -6$$

$$A_{33} = (-1)^{3+3} = \begin{vmatrix} 3 & 4 \\ 2 & -1 \end{vmatrix} = 1(-3-8) = -11$$

Now:-

$$\begin{bmatrix} A_{11} & A_{12} & A_{13} \\ A_{21} & A_{22} & A_{23} \\ A_{31} & A_{32} & A_{33} \end{bmatrix}$$

Putting the values:-

$$A = \begin{bmatrix} 1 & 6 & 1 \\ -38 & 4 & 24 \\ 21 & -16 & -11 \end{bmatrix}$$

$$A^t = \begin{bmatrix} 1 & -38 & 21 \\ 6 & 4 & -16 \\ 1 & 24 & -11 \end{bmatrix} \leftarrow \text{Ans}$$

Ans 3 Given:

$$2x + 2y + 4z = 18$$

$$x + 3y + 2z = 13$$

$$3x + 2y - 3z = 14$$

Find out =

Gauss Jordan Method

Solution:-

$$\begin{bmatrix} 2 & 2 & 4 & 18 \\ 1 & 3 & 2 & 13 \\ 3 & 2 & -3 & 14 \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & 2 & 9 \\ 1 & 3 & 2 & 13 \\ 3 & 2 & -3 & 14 \end{bmatrix} \quad R_1 = \frac{1}{2}R_1$$

$$\begin{bmatrix} 1 & 1 & 2 & 9 \\ 0 & 2 & 0 & 4 \\ 3 & 2 & -3 & 14 \end{bmatrix} \quad R_2 = R_2 - R_1$$

$$\begin{bmatrix} 1 & 1 & 2 & 9 \\ 0 & 2 & 0 & 4 \\ 0 & -1 & -3 & -13 \end{bmatrix} \quad R_3 = R_3 - 3R_1$$

Page no 08

Q3 Part

I.D:- 16049

$$\begin{bmatrix} 1 & 1 & 2 & 9 \\ 0 & 1 & 0 & 2 \\ 0 & -1 & -3 & -13 \end{bmatrix} \quad R_2 = 1/2 R_2$$

$$\begin{bmatrix} 1 & 1 & 2 & 9 \\ 0 & 1 & 0 & 2 \\ 0 & 0 & -3 & -11 \end{bmatrix} \quad R_3 = R_3 + R_2$$

$$\begin{bmatrix} 1 & 0 & 2 & 7 \\ 0 & 1 & 0 & 2 \\ 0 & 0 & -3 & -11 \end{bmatrix} \quad R_1 = R_1 - R_2$$

$$\begin{bmatrix} 1 & 0 & 2 & 7 \\ 0 & 1 & 0 & 2 \\ 0 & 0 & 1 & 11/3 \end{bmatrix} \quad R_3 = -1/3 R_3$$

$$\begin{bmatrix} 1 & 0 & 0 & -19/3 \\ 0 & 1 & 0 & 2 \\ 0 & 0 & 1 & 11/3 \end{bmatrix} \quad R_1 = R_1 - 2R_3$$

$$\left\{ \begin{array}{l} \text{S.S. : } x = -\frac{19}{3}, y = 2 \\ z = 11/3 \end{array} \right\} \in \text{Ans}$$

Ans 4 Given:

$$\begin{bmatrix} 4 & 2 & -2 \\ -5 & 3 & 2 \\ -2 & 4 & 1 \end{bmatrix}$$

Solution =

$$\text{Let } A = \begin{bmatrix} 4 & 2 & -2 \\ -5 & 3 & 2 \\ -2 & 4 & 1 \end{bmatrix}, I = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$

for eigen values Ist I find to

$$A - \lambda I$$

$$A - \lambda I = \begin{bmatrix} 4 & 2 & -2 \\ -5 & 3 & 2 \\ -2 & 4 & 1 \end{bmatrix} - \lambda \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$

$$A - \lambda I = \begin{bmatrix} 4-\lambda & 2 & -2 \\ -5 & 3-\lambda & 2 \\ -2 & 4 & 1-\lambda \end{bmatrix}$$

So taking determinants.

$$|A - \lambda I| = \begin{vmatrix} 4-\lambda & 2 & -2 \\ -5 & 3-\lambda & 2 \\ -2 & 4 & 1-\lambda \end{vmatrix}$$

Expand by Row 1

$$\begin{aligned} |A - \lambda I| &= (4-\lambda) [(3-\lambda)(1-\lambda) + 8] - 2[-5(1-\lambda) + 4] - 2[-20 + 2(3-\lambda)] \\ &= (4-\lambda)(3-\lambda)(1-\lambda) - 8(4-\lambda) + 10(1-\lambda) - 8 + 40 - 4(3-\lambda) \\ &= (12 - 4\lambda - 3\lambda + \lambda^2)(1-\lambda) - 32 + 8\lambda + 10 - 10\lambda - 8 + 40 - 12 + 4\lambda \end{aligned}$$

Page 810

Ans 4 Part.

S.D = 10049

$$= (12 - 7x + x^2)(1 - x) = 2 + 2x$$

$$= 12 - 12x - 7x + 7x^2 + x^2 - x^3 - 2 + 2x$$

$$= 10 - 17x + 8x^2 - x^3$$

$$= -x^3 + 8x^2 - 17x + 10 = 0$$

$$(x-1)(-x^2-7x-10) = 0$$

By Synthetic division.

$$\begin{array}{r|rrrr} 1 & -1 & 8 & -17 & 10 \\ & & 1 & 7 & \\ \hline & -1 & 9 & -10 & 10 \end{array}$$

$$\begin{array}{r|rrrr} +1 & -1 & 8 & -17 & 10 \\ & & -1 & 7 & -10 \\ \hline & -1 & 7 & -10 & 0 \end{array}$$

$$(x-1)(-x^2+7x-10) = 0$$

$$x = 1$$

$$-x^2 + 7x - 10 = 0$$

$$-x^2 + 5x + 2x - 10 = 0$$

$$x(-x+5) = 2(x+5) = 0$$

$$(x-2)(-x+5) = 0$$

$$x-2=0 \quad \vee \quad -x+5=0$$

$$x=2 \quad \vee \quad x=5$$

$$x=2 \quad x=5$$

Page 11 \Rightarrow Ans Q4

Its eigen values are 2, 1, 5

so all of its eigen values are distinct Matrix A is a diagonalizable

We can diagonalize it by finding bases vector which is not the part of Question.

ID: 16049

Ans 5, Page 12

Ans 5 Given z

$$3x_1 + 5x_2 - 4x_3 = 0$$

$$-3x_1 - 25x_2 + 4x_3 = 0$$

$$6x_1 + x_2 - 8x_3 = 0$$

Solution:-

$$\text{Let } A = \begin{bmatrix} 3 & 5 & -4 \\ -3 & -25 & 4 \\ 6 & 1 & -8 \end{bmatrix}$$

Expand by R_1

$$= 3 \begin{vmatrix} 25 & 6 \\ 1 & -8 \end{vmatrix} - 5 \begin{vmatrix} -3 & 4 \\ 6 & 8 \end{vmatrix} - 4 \begin{vmatrix} -3 & -25 \\ 6 & 1 \end{vmatrix}$$

$$= 3(200 - 6) - 5(24 - 24) - 4(-3 + 150)$$

$$= 3(196) - 5(0) - 4(147)$$

$$= 3(196) - 4(147)$$

$$= 588 - 588 = 0$$

Here $|A| = 0$

Hence the solution of given system is trivial i.e. $x = \{0, 0, 0\}$.

OR

Page # 12 & ID = 16049

Ans 5 Given:-

$$3x_1 + 5x_2 - 4x_3 = 0$$

$$-3x_1 - 25x_2 + 4x_3 = 0$$

$$6x_1 + x_2 - 8x_3 = 0$$

Solution:-

Write in Matrix form

$$\text{Let } A = \left[\begin{array}{ccc|c} 3 & 5 & -4 & 0 \\ -3 & -25 & 4 & 0 \\ 6 & 1 & 8 & 0 \end{array} \right]$$

$$\left[\begin{array}{ccc|c} 3 & 5 & -4 & 0 \\ 0 & -20 & 0 & 0 \\ 6 & 1 & 8 & 0 \end{array} \right] \quad R_2 + R_1$$

$$\left[\begin{array}{ccc|c} 3 & 5 & -4 & 0 \\ 0 & -20 & 0 & 0 \\ 0 & -9 & +16 & 0 \end{array} \right] \quad R_3 - 2R_1$$

$$\left[\begin{array}{ccc|c} 3 & 5 & +0 & 0 \\ 0 & -20 & 0 & 0 \\ 0 & -9 & 16 & 0 \end{array} \right] \quad \text{taking } x_3 = 0 \text{ and } x_2 \text{ free}$$

$$3x_1 = -5x_2$$

$$x_1 = -5/3x_2$$

$$x = \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix}$$

Ans 6 Given :-

$$\begin{bmatrix} 1 & 3 & 4 & 3 \\ 3 & 9 & 12 & 3 \\ 1 & 3 & 4 & 0 \end{bmatrix}$$

Find out = Rank = ?

Solution :-

$$\begin{bmatrix} 1 & 3 & 4 & 3 \\ 3 & 9 & 12 & 3 \\ 1 & 3 & 4 & 0 \end{bmatrix}$$

$$\begin{bmatrix} 1 & 3 & 4 & 3 \\ 0 & 0 & 0 & -6 \\ 1 & 3 & 4 & 0 \end{bmatrix} \quad R_2 = R_2 - 3R_1$$

$$\begin{bmatrix} 1 & 3 & 4 & 3 \\ 0 & 0 & 0 & -6 \\ 0 & 0 & 0 & 0 \end{bmatrix} \quad R_3 = R_3 - R_1$$

$$C_2 \rightarrow C_2 - 3C_1$$

$$C_3 \rightarrow C_3 - 4C_1$$

$$C_4 \rightarrow C_4 - 3C_1$$

Page ¹⁴

Ans 6

Part

J.D 1-16049

$$\begin{bmatrix} 1 & 0 & 0 & 6 \\ 0 & 0 & 0 & -6 \\ 0 & 0 & 0 & 0 \end{bmatrix}$$

Change colⁿ 4 with 2

$$\begin{bmatrix} 1 & 0 & 0 & 0 \\ 0 & -6 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{bmatrix}$$

Divide column 2 by -6

$$\begin{bmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{bmatrix}$$

Rank

$$\begin{bmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{bmatrix}$$

Rank = 2 ← Ans